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9�"1 'il+ttctil / QUESTION BOOKLET 

gffiiêfíl "B�cfíl"� / Number of Pages in Booklet: 16

3,f«lêfíl l=t � cfi1 � / Number of Questio�s in Booklet : 120

w:r:T / Time : 2.00 ef¿ / Hours � / Maximum Marks : 120
10:00 AM TO 12:00 NOON (MORNING) 

( INSTRUCTIONS) 
1. Please correctly fili your Roli Number in O.M.R. Sheet.

Candidate will themself be responsible for filling wrong
Roli No.

2. At the start of the examination before attempting the
question paper kindly check your test booklet and OMR
Answer Sheet and ensure that

* The serial numbers of test booklet and OMR answer
sheet are same.

* Ali pages of test booklet and OMR answer sheet are
properly printed. Ali questions from $.No. 1 to last
S.No. 120 are printed and pages from S.No. 1 to last
S. No. 16 are there in the question booklet.

ln case of any discrepancy / defect the candidate should
immediately report the matter to the invigilator for
replacement of test booklet and OMR answer sheet. No
claim / objection in this regard wili be entertained after
five minutes of start of examination. Candidate will be
liable for it.
3. Answer all questions.
4. Ali questions carry equal marks.
5. Only one answer is to be given for each question.
6. lf more than one answers are marked, it woultj be

treated as wrong answer.
7. Each question has four alternative responses marked 

serialiy as (A), (8), (C), (D). You have to darken only ·
one circle or bubble indicating the correct answer on
the Answer Sheet using 8LUE 8ALL POINT PEN.

8. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly
prohibited. lf any such prohibited material found with
any candidate, strict action wili be taken against him/
her as per rule. 

9. lf there is any sort of ambiguity/mistake either of
printing or factual nature in Hindi and English Version
of the question, the English Version will be treated as
standard. 

Warning : lf a candidate is found copying or if any
unauthorized material is found in his/her possession, F.I.R.
would be lodged against him/her in the Police Station and
he/she would liable to be prosecuted under Section 3 of
the State Prevention of Unfair means Act, 1992 and
Board Regulations. Board may also debar him/her
permanently from all future examination of the Board.
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1 ame lhc mo, cmcnt to "hich thc pcasants 
Rupaji and Kripa_ii are rclatcd? 
( \) Bijolia (B) Bcgun 
(C') Rundi (D) Bcgun and Bundi 
� (fm � � � cnT �er � 
���t? 
( ) �ll11�41 
(C)�

2 Who ,,as the chicf archi tect of the 
Kumbhalgarh Fo11 ? 
(A) Mandan (B) Govind 
(C) Napa (D) Punja
� t � cnT � �� � m?
(A)� (B) WcR::
(C)-nti1 (D)1tnl

3 Who was the first Chancellor of "Chamber 
of Princes" ? 
(A) Maharaj Bheem Singh
(B) Kami Singh
(C) Gajsingh
(D) Gangasingh
,,� � �, cnT -çr� � � m?
(A) 'lt;l{M � (B) q¡{llTf fm-
(C) 1fiilfm- (D) ,j,11ÍBt; .

4 Whom did Gora and Badal protect ? 
(A) Maha.rana Pratap (B) Rani Padmini
(C) Rana Udai Singh (D) Kamlawati
1TIU0fi"t���1Wcffi�?
(A) 'lt'>I {1º11 m (B) u.fr �
(C) Tf'O'lT � � (D) i:h'frtlêld)

, l , . anisation is working
6 'Tarun Bharat Sang 1 org. ld ?for which of the fo[lowrng fie 

(A) Women Emp_owerment
(B) J\nti-Corrupt1011 
(C) Water Conservat1on
(D) Tribal Youth Develop�cnt

� + � 
. ' -riTr= � ir � PcnB' G1?1 q, l\'l�,� � 'B"tl' -i·ru·r 11+"1 

cfiTTf co{ w i?

(A)� B�·,+l1fc@,..,,..êh:;c-,{nno1 
(B) Wlê.l'i:ll{-�tl 
(C)\lNfm� 
(D) 311Rêll(1"1 ffic;UT fcrq;m

7 The Command . Are a  De velopm�nt
Programme (CADP) was started by wh1ch 
of the following ? 

8 

(A) Government of Rajasthan and World
Bank

(B) Govemment of Rajasthan a.nd Reserve
Bank of India

(C) Government of India a.nd World Bank
(D) Government of Rajastha.n
f;r:;i- ir � � &m "êhllts � �êll.'19�·¿ �
((11�it41) � iw:rr � m?
(A)� Wcor{ � fcr�cf �
(B) � Wcor{ � mrcf � '3Wfi" �
(C) � Wcor{ � fcr!?cf �
(D)� Wcor{

'Taalchhapar' lake is located in which of the
following districts of Rajastha.n ? 
(A) Churu (B) Udaipur
(C) Bharatpur (D) Alwar
f;r:;i- ir�� t � � -q 'ai1.11&1qr �
�t? 
(A)�
(C)�

5 Surji Bhagat was socio-religious reformer 9 
of which tribe of Rajasthan ? 

The ending point ofthe Indira Gandhi Canalis situated in which one of the followino
(A) Bhccl (8) Mccna
(C) Gu�jar (D) Garasiya
� � �� c6l fcnB '1l1'1i1Rl � �
Bl91f-iiêh �m{'q) � à?"" 

(A) '%>f (B) -ifrun
(C) � (O) 'I {IÍB41

@+ 

districts ? º 

(A) Jodhpur (B) Jaisalmer
(C) Barmcr (D) Jalore
� -q � fcnB � -q � TTTtft m cf>T �
t§TT�t? 
(A)iiíl� 
(C)� 

(B) �t11.11Y t
(O)�
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10 In which style of Painting birds and animais· have got an important place ?
(A) B�ndi style (B) Nathdwara style
(C) K1shangarh style (D) Bikàner style
íil?!êb<.'11 rt)- � �-q tf® � \l"lHq à COT l1t;&-ll{11�
�t? 
(A)� � (B) -n� �
(C) fcó�� � (D) ��êôt� < �

11 \\/ho was the founder of Ajmer City ? 
(A) Arnoraj (B) Ajayraj
(C) Ajaypal (D) Someshwar
��coT��m?
(A) ljiOfi(l\ii (B) ljiíjjlj (líii
(C) ljiíjjqql<.'1 (D) mrí�cIT

12 Where is Jaswant Thada located ? 
(A) Bikaner (B) Amer
(C) Udaipur (D) Jodhpur
����t? 
(A) �"iêôt�< (B) �
(C) '3�ll'.i{ (D) "íiiTt!T

13 Ren, Shahpura, Sinthal, Khedapa were the 
four main centred of which sect in 18th

century in Raj asthan ? 
(A) Meeradasi sect (B) Ramsnehi sect
(C) Dadu Panth (D) Ramdasi sect
1 scn �� � � � tur, ��, m�,

mltfl��t"'qf{���? 
(A) '11 (l�l1j"1 � (B) (l'ifiífl �
(C) � -q� (D) (l'i�IBl �

14 Who is painter of famous "Bani Thani" 
Painting ? 
(A) Amarchand. (B) Nihalchand
(C) Nekchand (D) Rajsingh
� '�-�' fu?f COT Íil?!êbl ( c¡ft;, m?
(A) i3lG(il� (B) f.i(,l<.'1il-G
(C) �êfíil� (D) <1'1JR-i(,

15 Who coined the word "Rajputana" for the
first time for Rajasthan ? 
(A) Metcalfe (8) Colonel Todd
(C) Lord Wellcsley (D) Gcorge Thomas

� t � '<1J1ta1;n· �-r«:: êOT m m�

�fcoirrm? 
(A) 'llêôll.fí
e e) "61"Ti 4� Jt-+;¡¡=l."1'2'1"J

(B)co-IBm
(D)�mi:rn

3 

16 W hich "Khyat" is recognised as most 
profitable in history writing of Bikaner ? 
(A) Mundiyar's Khyat(B) Bankidas's Khyat
(C) Dayaldas's Khyat (D) Nensi's Khyat
'4'lêôl� ( t �Rlt;lfl m � � m "m" i3lfu 

�l? 

(A) 5uJ)q1( fr m (B) ci!iêfi'l�lfl fr m

(C) �lll<.'iê�lfl fr m (D) � fr m

17 Who is the author of "Mutinies rn 
Rajputana"? 
(A) I. T. Prichard
(B) Nathuram Khadgawat
(C) Michel Edward
(D) Jabar Singh
'RI)¿.:í)íjj � (1'1ll{é1HI' � � t � ctR
% ?
(A) �- ir. �

(C)��

(B) -;¡-r� @?lllckl
(D) Ziici! <R-i(,

18 Where was the formation of Bharatpur 
Prajamandal announced ? 
(A) Bhusawar (B) Rewari
(C) Agra (D) Bayana
•� \.líiill.is(ii' � ct,- � � � tf'('

��?
(A)� (B)� 
(C)wm (D)�

19 How many years of rigorous imprisonment 
was given to 'Sagarmal Gopa' on charges of 
treason ? 
(A) 12 years
(B) 20 years
(C) 6 years
(O) Life imprisonment 
'(-flll (1-161 lWTT' êfiT {líii�lt; � '3ffi1'q -ir fcmÀ' � ct,­
cfioIT êfíl (li:11(-l ct,- � � 11{ ?
(A) 12 � (B) 20 �
(C) 6 � (O)� êfíl(lql(-l

P.T.o:)
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. ' ., 1· 1t rcaturcs of20 ¡ 11 rdrrencc ol some s<l 1c 1 
. l . R. 1 "'h1ch of t1c auril"ulturc 111 a.1ast 1an. 

lt;I ltrn ing is corrcct '? . 
( t) Dominancc of food-wam crops
(2) i\ 1onsoon neutral agnculture
(3) Iligh dcpendcnc� ?n Dry�fanm

_
ng

(➔) L;\.istence of l11ftmg-agncultu1e 
elcct thc conect answcr, using the codes

gi\'en below -
Codes : 

(A) ( 1) and (3) only
(8) (3) and (4) only
(C) (2). (3) and (4) only
(O) (1). (3) and (4) only
�1l�ch°r����l1l@T'3TTt� 
1tf.r91tB�Btitr%'? 
( 1) '©mFf � ch°r 'ÇJ� 

(2) ���
(3) � � � � �
(4) �1'1ÍCHºI � ch°f '1�1'iC:::l�
��Tf'Q;� � B$1l@ B��q)Tq<R
�-
�:
(A)� (1) � (3)
(B) � (3) � (4)
(C) � (2), (3) � (4)
(D) � (1), (3) � (4)

21 Which of the following pairs is correct '!
(A) Som - Mahi (B) Jakha� - Lun� .(C) Parvati - Jakham (D) Kothan - Lum 
�i:.i1Rrifula it B � m � � i? 
(A) "ffilf � lTTfr (B) � - �
(C) � - � (D) êfiTõTfr - �

22 On Chambal Ghati Project the · following 
dam is in Madhya Pradesh 
(A) Jawahar Sagar Dam
(B) Kota Barrage
(C) Gandhi Sagar Dam

. f which Maharana, the
24 During thc re1gn o 

. fi d? 
last incidcnt of Sati with the rulcr �s oun . 

. s· h (B) Amar Smgh-IJ(A) RaJ m� 
h J (D) Swaroop Singh

(C) Amar Sing - ' 
_T'TTTTT • + -� � � 1:n;1 (1º11'3ñ-qq¡s t fc6ij -1-1 �é> l 'TTI(I uTTTII en � I IB 1êh 1 ('1 '1 

t �� "ffilT m ctr � tR,fT cnTfclcRur flf"ffiTT
t? 

(A) (IJJR-i$
(C) 011-1 <R-i$-'Çf�

(B) 1311-f <R-i$ iM)c:r
(D) {-<:l&qffi�

25 Which place is famous of Rajasthan for
l. ?'Theva Art' of ename mg 

(A) Barmer (B) Jobner
(C) Nathdwara (D) Pratapg?Irh

� ir ifHlêhlÕ cCt" '�qlêh(ill' $ � � 'ffi
� � i? 
(A).� 
(C)�

(B)� 

26 Who was the author of the book 'Shok 
Shatak' ? 
(A) Kesari Singh (B) Umardan
(C) Balabaksh (D) Nathudan
·�� �"@co' t � � �?
(A) ifíB Druõ (B) �í:h�l-f <�ê(�¡;:¡
(C) ��T (D) °'1"T�

27 Remains of Gilund Civilization belong to 
whicH era? 
(A) Copperstone era (B) lronstone era
(C) Pottcry era (D) Stone era
� 'B'R@T t '3lq�Tl'{ � 'TT t i ?
(A) ctll.HH� ( 'T'f (B) �"lõSI� ( 'T'f
(C) TR� 'T'f (D) � 'TT(D) Rana Pratap Sagar Dam

� mtr qi):Q'1,í'H1 "Q"{ �i:.iRrlfula ir B lfêi¡ ��T 28* ft-tm mr.r i Rana Kumbha built the nine-storyed "Kirti­
Stambha" and dedicatcd it to which
worshippcd God ? 

(A)� m1TT q'rq (íl) cITTcT �
e e> Tffm m1TT q'rq e o) -nun � m1TT ql'c.T

23 Which is not thc Gypsum producing area ?(A) Dhakoria (B) Dcbari
(C) Jamsar (D) l lamirwali
f.r91l"à�m���-rt't't-?
(A) t.114'1fh11 (B) �
(C) � (D) Pfl(qlt'fl

4 

(A) Shiva (B) Hanuman
(C) Ram (O) Vishnu
.fr � t fcr�T@ · ·cttffi �· · cor "tTUfT � �
� � i341��q coT � fuim i?
(A) ft19 (B) �
(C)1Tlf (D)�

l no)
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29 Whích o[ thc following districts of Rajasthan 
has \onge ·t boundary ""hich touches 
Pakistan? 

34 Which of thc following is not matched ? 

(A) Sri Ganganagar (B) Bikancr
(C) .laisalmer (D) Barmer
�1fchw11 ê6l° � 1@ q;) � ��f ffl cJRTfT
�q;r��mt? 

(A) 5>1)ljlll1ll ( (B) is¡"tcfil�( 
(C) �{-l(iiq( (D) �

30 Which of the following winds are te1med as 
'Loo'? 
(A) Dry winds blowing such as sand storm 35 

(B) Winds coming from water bQdies
(C) Winds of same speed r 
(D)Westem depression
·� �� fcfiB 1Jcm ê6l' �® qíl � cóTaT t?
(A)� el��® "êhT �\
CB) ,j@ mrm ê6l' � -e- � � �
(C) Wl'IIB -e- m cffiifr �
(D)m��

Animal Breed 

(A) Cow - Raathi
(B) Buffalo - Murrah
(C) Sheep - Magra
(D) Carne! - Jakhrana

� B' -e- � m �qR;Ja � t ? 
qu � 

(A)Tím - W
(B) � - �
(C)� - .¡.ro
(D) � - '11@(111
In year 2019, which ofthe following lakes 
ofRajasthan is in news for mass bird deaths? 
(A) Aanasagar (B) Nakki
(C) Sambhar (D) Mansagar
� 2019 B' � ê6l' f;r-q-q.: -e- r$f;, BT �,
� � -q' -q-� ê6l' � "cfi1" WITT (·P-l l'cl I Ú -q' ffl
t? 
(A) '11111(-llll(
(C)�

(8) �
(D) '111(-llll(

31 Black Sail is found in -
36 'Beed' are found in the district of -

(A) Kota, Bundi, Sirohi
(A) Baran, Jhalawar, Kota
(B) Jaisalmer, Barmer, Jodhpur ;
(C) Tonk, Dholpur, Alwar
(D) Bikaner, Udaipur, Sirohi C)
����t-
(A) "ijfÚ, $il(iilql91 cOTZT B'
(B) �(M� (, �' \iTT� -q'

(B) Jaipur, Alwar, Tonk
(C) Sikar, Jodhpur, Bikaner
(D) Bhilwara, Ajmer, Pali
,�,��B'tmJ;"Gl'mt-
(A) cOTZT, �, ft,-mr
(B)�,�,"2Tq,
(C) �' '111�, 4'cfil�< 
(D) 4'eflcll9I, �, �(C) "W-fi, �/ � -q'

(D) is¡()1cfil� <, �, ft,-mr -q' O') 37 Which region of Rajasthan is known as 
"uppermal" ? 

32 National Mustard Research Centfe is situated 
at -
(A) Tonk (B) Jhunjhunu
(C) Sewar (D) Behror
���tlA��t-
(A) "W-fi -q (8) � "9'
(C)"6"cf( "9' (D)� "9'

33 In which ycar "Mukhyamantri Jal 
Swavlamban Abhiyaan" was launched m 38 Rajasthan ? 
"TTJf{� "9' '. 'ilsll tj-:{l -1@ {<11 cl l"Í � 1 �" cCT 
�¡ç3t@ � � it cCr TT{ ? 
(A) 2016 - (B) 2017
(C)2018 (D)2015

5 

(A) Ajmer, Tonk, Bhilwara
(B) Kota, Bundi, Jhalawar
(C) Jodhpur, Jalore, Barmer
(D) Sirohi, Pali, Udaipur
� -q "diq {'l lefl" � � "B" êfft;, m � sifRT
�t? 
(A)�' "W-fi, \fleftql�I 
(B) "ê:hlZT, �, $ilefllcll9.
(C) '111�, �, �
(D) ftrmr, �, í3e,q�{
'Gramecn Gaurav Path Yojana' in Rajasthan 
wus startcd in which ofthe follo\\ing )Cars? 
� -q' 'l.lT'ftur .fr1q 'CJ� �· cñT � 
� � "9' :S® m? 
(A) 2014-15 (B) 2015-16 
(C) 2018-19 (D) 2019-20

P.T.o) 
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39 On thc basis of thcir abundant prcscncc

match thc fol\m, ing forcsts with districts

usino codcs given bclow 
e � 

(i) alar forest (a) Banswara 

(ii) Dhaak forest (b) . Sirohi

( iii) E,·ergreen forest (e) Chittorgarh

(iv) Dry Teak forest (d) Alwar

���t'3lmTT-q"{��� 

fum q)l � � � cCr (-lwrn1 'B' � �: 

(i) �q,, (a) �i(-lclli!fol

(ii) (b[qj' q,, (b) fuM

(iii) (-lG.l�eyl ( q,:, (e) Íil 'êfi .1!fo i I q,

(iv) � (-ll•lclH q,:, (d) �

Codes / � 

(i) (ii) (iii) (iv)

(A) (d) (e) (b) (a)

(B) (e) (b) (a) (d)

(C) (b) (e) (a) (d)

(D) (a) (d) (b) (e)

40 Choese the incorrect pair : 

Conservation Reserve District 

(A) Beed - Jhunjhunu

(B) Gogelav - Pali

(C) Jorbeed Gadhewal - Bikaner

(D) Gudha Vishnoi - Jodhpur

��q)l�: 
cR ufrq Mera�

(A)� 

(B) •íl•l{'flêl

(C) 'l1'19csÍls �

(D)� fcr��

�+ 6 

41 

42 

43 

The truc r.m.s. voltmeler employes two
thcnnocouplcs in order to -

(A) prevent drift ., 
(B) incrcase the accu1 acy
(C) caneei out the nonlinear effects o[ first

thermocouple
(D) increase the sensitivity 

. , 
clRafclêh r.m.s. êflçr¿i:¡I'\¡¿( CD �-P-ilêh4Rl q;l f;ili1Riia-

m -q � mm t �

(A)�'Uéfi"T-ifl�
(B) (lmmfl � '1fT �
(C) � �lilêhqz,i àJ � -çrmcfi cITT � fcfim

'1fT �
(D) ��ÍTWIT � \llT �

. 
Telemetry allow data ílaw in ---­
(A) Single directian
(B) Bath directions
( C) Depend on design
(D) Depend on carrier
¿1_17�� -q w ™ cfil � t
(A)� fc{w -q
(B) � fc{�TT 1f
(C) �\Í'1Wl � � cITTcTT t 1

(D)���t
A semiconductor has ____ temperature 
caefficient of resistance. 
(A) Positive
(B) Negative
(C) Zero
(D) Bath Positive and Negative
\jh1'qfflêh -q --- �ti l:114GH �
m-m t 1 

(A)� 
(B) :tiºllê"-lêh
(C) ��
(D) � crm ?ltºiii:Yêb �

44 In_ an amp�ifier the signal handling capacity
w1ll be h1gh when thc aperating point is
selected 
(A) At the extremities af the active region
(B) Clase to cut-off region
(C) Clase to saturatian
(D) ln the middle af thc active regian
Q«1çr11411q { -q fur.IB isRri i¡ � � �' �

V 'P· � �\'.1114 (í¿i¡ , .... � l:.>1'11

(A)� �t�'Cf{
(B)cfiZ 3Wo �t �
(C)�t� 
(O)� � t -i:rtIT ll
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45 When both are inputs of J-K ílip-ílop cycle, 
the output will -
(A) be i11Yalid (B) changc
(C) not changc (D) toggle
� J-K � � çf)l{ lf � � � �.
m 0l10¿g¿ WTT
(A)iW,Fl (B) q�q�d
(C) q�qtfia '1tT min (D) irIB

-t6 A single stage amplifier employing one 
active device is powered by a 9 V battery 
which has a cunent drain of 20 mA. If load 
voltage is 3 V at 12 m.A, then detem1ine 17. 
� lWIB � QAJICfílll( lf � � fuqt�(l 
9 � � � (l'{rll�s i- � t-f � 20 mA 
i- 1 � � � cITT i:rR 12 mA 1TT 3 vi-, m

r¡ coT 11R wn -

(A) 30%
(C) 10%

(B) 15%
(D) 20%

4 7 A differential amplifier has a differential gain 
of 20,000 and CMRR is 80 dB. Then the 
common mode gain is giveri by -
� i3RIT QAJ1Cfílll ( coT '3RIT � 20,000 êfm 
CMRR 80 dB t m � � coT � � <m
-q= "B wn -

(A) 1
(C) 0.5

(B) 2
(D) 25

48 In communication system, noise is rnost 
likely to affect the signal -
(A) At the transmitter
(B) In the channel
(C) In the inforrnation source
(D) At the destination
� W1TffiT "9' �,n � i3lfuco m q¡) 1¡1llfcIB
�i
(A) �il-11-i"1¿< 'TT
(C) � t fflçT "9'

(B) � -q
(D) 1@cif 'TT

50 for thc block diagram shown in figure, the 

e 
transfer function /�) is cqual to _

(s) 

� lf m '3TTt@ � �. �Í(llfí( tficf�l1' �(s)

� min 
(s) 

R(s) 
�

C(s) 

l��T 
(B) 

s2 +s+ 1
s2 

(C) s2+s+l 
s2+s+1

(D) 
s 

51 The nurnber of roots of s3 + ss2 + 7 s + 3 = O 
in the left half of the s-plane is -
(A) zero (B) one
(C) two (D) three
s-� t � 13TTq "9' s3 +5s2 + 7s+3 = O �
����­
(A)��
(C) �

52 The gain ofthe open loop system is doubled, 
the gain rna:rgi n i s 
(A) Not affected
(B) Doubled
(C) Ha]ved
(D) One fourth of original value
� � � cor � � m Tf"líl, m 111 cITT

'3TTTT" wn -
(A) l;J'qfq�ffiill �

(B)� 
(C) '3TTtlT
(D)�"cilm{lfí�êoí 49 What is the disadvantage of FM over AM ? 

(A) High modulating power is needed. 53 Equating the denomenator of transfer 
function to O (zero) wc get -(B) Requires high output power.

(C) Large bandwidth required.
(D) I ligh noise is produced.
f·MtAM'TT�mMt?
(A)� '11�z;if¿,¡ �ffe.@ � '3llq�� � i 1
(B) � � �ffeffi � '3llq�� � i 1 

(C) � �� � '3TTêJ�� � t 1 

co)��m�mcrri 1 

7 

(A) Poles
(B) Zeros
(C) Nodc
(D) Both Poles and Zeros
� tficf�l1' t � (~fu-'11-1-+.�4-� ¿-() c1TT �� t
��'TT�WTT
(J\)tjh;r (B) �
(C)� (D)tjh;r cr � �
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54 If polcs of the s tcm are 1) ing on the 
imaginary axis in s-planc, thcn thc system 
"ill bc -
( ) l Jnstable 
(B) tablc
(C) 1arginally stable
(D) Conditionally stable
� ·-plane -q' êhí(.i1.l�êh �� -q"""{ fuRA t �

�tcTT�m7ll 
(A)� (B)�
(C) éll-lid(ti4 � � (D) ��ícffitl B �

55 Bode plot is applicable for -
(A) Minimum phase network
(B) on-minimum phase network
(C) All pass network
(D) Every network of the control system
� WG 349,ê:R1 %
(A)��� t �
(B) '11�'1dl-l � � t �
(C)"Bml:fffi�t�
(D) � êBT t � � t �

56 Non-touching loops are said to be non­
touching, if -
(A) they do not pass any conlffion node
(B) they do not pass any common loop
(C) when they have multiple inputs
(D) none of these
� 00 �' �-zfull êh(;efllà t � -

(A)���B.,ty�
(B) � � � B .,ty �
(C)��B��m
(D) � B � .,ty

57 Damping in a control system is a function 
of -
(A) Gain (B) .JGain

(C) � (D)-1-
C1am Gain 

� � � 1r WTT (Damping) cf>n:f B 
�i 

(A)lR (B) fu

1
(D)­� 

8 

58 ln the given figure, the potential differ�nce

bctween points P and Q is -

t � � -q' � P i3fIT Q t lltlf fcr'qcffif{

wrr 

2A 

�-----1 �"\------, 

2Q 4Q 
P�-',MM-----4--MAiv---eJQ 

(A) 10 V

(C)-6 V

60 

(B) 12 V

(D) 8 V

59 Consider the electrical network below : 
� � � � � -q"""{ fcRITT ênt 

Determine the value of 'R' so that current 
through resistance is zero. 
'R' "êhT TfFf ma�� màu'tl B � crr&t mn 
��m, 

(A) 20 (B) sn

(C) 40 (D) 3Q

60 The frequency response of parallel LRC 
circuit at resonance is : 

� � �l-111ia ( LRC � � � !.1fàffuq1 
t-: 
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RC drivíng point impedance function
61 for an 

ZRc (S) -
RC�*�141�B ����R ZRc(S)-

(A) ZRc(O)�ZRc(oo)

(B) ZRc(O)=ZRc(oo) only / (�)

. ( C) z RC (O) � z RC ( oo)

, (D) ZRc (O)> ZRc (oo) only / (�)

65 To neglect a vo]tage source, the terminal 
across the source are -
(A) Open circuited 
(B) Short circuited
(C) Replace by inductor
(D) Replace by some resistance
� fflçf � '3tí� ffi � �' t-ílçf � ¿ftl,·M
��t-
(A)'3Wr1" � 
(B) �Tft �
(C) �g¿¡:¿{ IDU �

62 Which of the following theorems can be 66 applied to any network - linear or nqp-linear, 
active or passive, time variant or time 

(D) � >lfu"nq IDU �
The voltage at the two ends of a line are 
132 kV and its reactance is 40 ohms. The 
capacity of the line is -
� � � q1' fuu 1TT c¡'¡(.'"¿a¡ 132 kVcCr t �invariant ? � 1 

(A) Thevenin's theorem ..,,, 
(B) Norton's theorem r { 
(C) Tellegen's theorem C 

� !.IRP=Ha 40 � t 1 � cCr � % : 
(A) 217.8 mw (B) 251.5 mw
(C) 435.6 mw (D) 500 mw 

(D) Superposition theorem 67 
f;ii;¡Rrlf©a -q � � m m M � � -q{

Voltage distributiqn across disk of strings 
of suspension insulator assembly is -

� fcfim "inT W.ficfT t - � m frt-�,
• m � � m � 0iqf):qêf-1�� ?

1 

(A)�ct,-� (B)��m
(C)� ct,-� (D) tJ,4{4'¡f{ij�ff �

' -j
63 The unit of capacitance is -

(A) Volts / Coulomb (B) Coulombs I Volt
(C) Ohms (D) Henry 1/ Wb 
B�ctr�t 
(A)�/�
(C)� 

(B)�/� 
(D)t-;iT /W 

·1 

64 I . sients notn pure resistance circu1t tran 
available because they - , 

1 
(A) have no stored energy r 1(B) 0ffer high resistance 
(C) are linear circuits
(D) obey ohm's law � � t
� � ,;rfuuti mqtT 1f � 
� 
(A)�����mcfrt
(B) -q � �� tà- t 1 
(C) -q � -fu'tT i@ i' 1 t (D)-q '3TI1,� �cfil � �

�+ 
9 

(A) same for all disks. 
(B) maximum for unit nearest to the line. 
(C) maximum for unit nearest to the tower.
(D) equal to transmission line voltage rating. 
B(q.B1 �i!�•kl � � íWT � � 1TT fcrqq 
fcrcITul ___ i 1 

(A)����� 
(B) cm � f;\q¡¿a� � � � �
(C) ircr{ � f;\q¡¿a� � � � �
(D) ��R � � 1."fvr � �

68 The skin effect increases the _
(A) Inductance of line 
(B) Resistance of line 
(C) Capacitance of line
(D) Voltage of line 
� �'qlq (skin effect) � � � t _(A)� (B) mà"nti .(C) � (rt�1fl-sia1) (D) � 

69 The distri�ution transformer is generall connected rn - Y 
fcraTOT s::iB4'14( � "tfr fcJm � � �
t? ��• Qml

1 ó -Delta� Y-Star] 
(A) ó - ó
(C) Y - ó 

(B) y - y 
(D) ó - y

Oiv 
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70 Thc disad, antagc or lm,, oil circuit brcakcr 
o,cr bulk oil circuit brcakcr is -
(A) lt rcquires less space.
lB) Therc is a reduccd risk of fire.
(C) Thcre is difficulty in removing gas from

contact space in tirne.
(D) tfaintenance problem are reduced.
�m;rmt?:M'Q1cm�-uftzmq,1cRll 

�i-?

(A)�� cf,lf � cCr '31fcí�� � t 1 

(B) l3TT1T q;r � cf,lf t 1
(C) � � ffl � "B � �chll"l� -q chRi11{

m-áT i- 1 

(D) (@(©li:l cCr � cf,lf m � t 1 

71 Lightning arrestor, connected in a power 
system protect electrical equipment from -
(A) Over voltage due to indirect lightning

stroke
(B) Direct stroke of lightning
(C) Frequency fluctuation
(D) Over current due to indirect lightning

stroke
l"ll�¿f.ii1 �I � � -q � � � 
'34ch (Oíl. cCr �� � i' -
(A)��� @êl> � "chTTUT '311"cIT-� B
(B) i3TTcnT�lm � � �� i3mITTf B
(C) � -q "3mt-� B
(D) �� � � $ � cfITTUT � � B

72 Resistance switching is normally resorted 
in case of -
(A) Air blast Circuit breaker
(B) Bulk oil Circuit breaker
(C) Low oil Circuit breaker
(D) Sf·6 Circuit breakcr
�U�tn1��Wl"Bfcim-q
Nil:l"T � t ? 
(AJ���m-q 
(B) trrq¡ � � ffl -q
(C) tn1f m;r mtc ffl -q
(D) SF6 � W-ñ( -q

10 

·r . b' · g is provided by ª 

-

73 rans1stor ta?n . 8. 
5 battery 

(A) Biasing c1rcwt (B) ia 

. (D) Gcncrator
(C) D1ode &TU >IG:R êhl 
�iítil-l( 51¡qÍ{iTf � ----

� i- 1 

(A) 511qfti11 �
(C)�

(B)�� 
(D) �1"(¿t

74 A 1-phase fully controlled bridge con�_erter

¡. 1 d drawing constant and 11pplesupp 1es a oa , . 1 . 
free load cmTent. If the triggenng �ng e is

30º, then the input power factor will be -

� 1-� � � B �li�a- � qj;ql< �

"l"l15cCr �cITTml �� �-fttffi:!cffl 
mu�t I iWIT R;11íl:TTêfilUT 30 t°, crrf;m�T
"QlêIT�cR:ílmlll? 
(A) 0.65 (B) 0.85
(C) 0.866 (D) 0.78

75 In a single phase full wave controlled bridge 
rectifier, minimum output voltage and 
maximum output voltage are obtained at 
which conduction angles ? 
(A) 0°, 180° respectively
(B) 180°, 0° respectively
(C) 0°, 0° respectively
(D) 180°, 180° respectively
� ftrwr � � � @il � {cfl1Lfílll ( -q
ÍCl�YY � � '3fR �cf«IYY i:}Jlí3¿_g¿ �
� � cfíl1JTT � � -rnrr t ?
(A) Oº, 180º çf;ll�T: (B) 180º , Oº ��T:
(C) Oº, Oº çf;ll�T: (D) 180°, 180º ��T:

76 A 'MOSFET' acts as amplifier in its _
(A) Linear region 
(B) Saturation region
(C) 'Cut off' region
(D) At the boundary of regions 
ifH:llb¿ (MOSFET) � QA{;1"14>1qr � � � co-m
êlmIT t 

(A)� � 'G' (B) � � �
(C) '� �

I 

� -q (D) � � � �
77 Triac are usually opcratc<l at _ 

(A) ¡ Iigh frcqucncy (B) Ali t' , requency 
(C) Low lrcqucncy (D) Pow, 1. _ ____;;i,... 

. Rrl cr rcquency 
� i3W1Ç11� � Rcli êf ™ i
(A)� � � (13) � � 1lt 
(C) � � � (D) �ffeffl � 'Q1

[ P.T.0::)
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78 Chopper converts -

(A) AC to DC

(C) DC to AC

� trf{tjRffi q)@i

(A) .\C B DC

(C) D C B AC

(B) AC to AC
(D) DC to DC

(B) AC * AC
(D) DC * DC

_ . uadrant chopper cam1ot be operated79 . ÍOUl q 
as 
(A) One quadrant chopper

(B) Cyclo conve1ier

(C) llwerter
(D) Bi-directional rectifier
� �m�T � � � -q B'i:llflila � �
�WMT?

r, � 

(A)� �m-6 �
(C)�

(B) Bl�êful qj,tjl(

(D) ��T tfci:¿q,¡íJ..l (

80 A step down chopper can be used in -
(A) Electric traction (B) Electric vehicles
(C) Machine tools (D) A ll of these
�Wl-��colmmcTT%°-
(A) ��Rf?;cfí tf�R -q (B) �JtfêR;êh � 1f
(C) -q�Yt, � -ir (D)* �

81 To meet high current deman:d, we use SCRs 
m-
(A) Series connection
(B) Paralle! connection
(C) Anti-parallel connection
(D) Both Parallel connection ª 11d Anti-

parallel connection 
�tlTTrctTlTTTfqjT-g:<l"c60��,�
�-m.0lft. qj'f � m i -
(A)i1l-un�-q
(B)� B41GH -q'
(C) � "B9HI� ( B41Zí'1;:r -q 
(O)� . , .:,; .,,,. � "B91'11"d( 

" 11"1 l'\1 <. <:14 ('31"1 '1 "" 

�-q 

�+ 1 1 

82 The lcast cxpcnsive protection for 
ovcrcurrent in low voltage system is -
(A) Rewirable (use (B) Isolator
(C) Circuit breaker (D) Air break switch
� q7�¿a1 >fUT@'r � � -q � Cf>1=I @Jl(,j� wm

t-
' '� (A)�: �a,�(lt,r\,-lv'lf-..... � (B) '3-ll�fílcri¿( 

(C) 1lfM� f¿¡ltlZriêh (D) crrg féllt1Zii1 m

83 The rate of rise of restriking voltage depends 
upon -
(A) The type of circuit breaker
(B) The inductance of system only (L)
(C) The capacitance of system only (C)
(D) Both inductance (L) and Capacitance (C)

of system
g1(cil�1 � � -zjr � � 'Q( �� �

i ? 
. (A)� WITT col W-OTT 

(B) � � col Q (êhçq (L)
(C) � � ctr mftill (C)
(D) � t � (L) � mfurr (C) �

84 Over load protection is generally not 
provided for -
(A) Altemator (B) Transfom1er
(C) Bus Bar (D) Lines
'3lfu'q'IT W&lUl � tf"t � � � �
��t? 
(A) \J11�q�¿< 
(C) � �

(B) �ÍB4Wh
(D)�

85 The arcing contacts in a circuit breakcr 
are made of -
(A) Aluminium alloy
(B) Electrolytic copper
(C) Porcelain
(D) Coppcr tungsten alloy
� � -q (3� q)j�êg --- � �
™i 
(A) �f}¡f.i¿¡9 ftf-3rtnTI
(l3) �¾'i("!l�Ílêfi �
(C) � �
( D) cITTcrt � fff 53ltrlTI
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86 At gcncrator bus, c.klincd quantitics are -

.,0) \1:J and \r��\ are dcfincd 

(B) l�,I and IQi1I are ddincd

( ... ) \ �1
;, \ and l 8 I are dcfincd

(D) \1�� 1- ll�{!" \ and 181 are defincd

,iH(¿( � iTT, cffR � � � � t ?

(A) 1��1 � \vg l
(B) \Pdl � \Qd\

(C) 1�� 1 � 1 8 1

(D) \Pgl, \vg \ � 181

87 Neutral grounding provides safety from -
..(1\..) Surge voltage and arching ground 
(B) Over voltages due to lightening

discharge 
(C) Both Surge voltage and arching ground 

& Over voltages due to lightening
discharge 

(D) None of these
� !1l'3�ll "[{m m � i -

(A)� � cr ffi7f � U

(B) � '3ffiZif-1 � q1ITUT '3TTcf"{ � U
(C)��cr��U���

�qjITUT'3TTcR�.�u 
(D)�U��

88 The draught produced by the chinmey is _ 
(A) Forced draught (B) Natural draught 
(C) Induced draught (D) Balanced draught
fu1Ál&ro�cITgêi?TmcITTt-
(A) �oi'1Ra � (B) �1�Rlêfi W1R
(C) � WR: (D) � W1R

89 1 hc design of insulation of thc modern El IV
lincs is bascd on 
(A:) c_·o�ona (B) V?ltagc drop 
(C) Sw1tch voltagc (D) Ltghting voltagc 
im� t.�.m. � i:( Fti��í-f c01 �íill�'1 
fctIB 'TT immTT.õ i@,- t; ? 
(A) cfiTTT-=rr (B) � � 
(C) � � (D) 1Jcnl�T �

90 /\ pcrmancnt magnct should have - .. 
(/\) I Iigh cocrcivity (B) L�w coercivit� 
(C) Zero cocrcivily (D) IIigh ílux dcnsity

� "{� � -ir � � � 
(;\) � &í1wfiltt es) � ='q,1,...,-\-'m�filn-til

(C) �� &í11�fc!ll (D) � -çrcm- �

91 A magnet is kept in air surrounded by an
iron ring. The magnetic lines of force from

the magnet will be 

12 

(A) crowded in the ring
(B) crowded in air 
(C) crowded evenly distributed
(D) not produced 
���wrtfu"fitcr�-ir-nsíl� 
t 1 � 9;��� � "ITT1fT -
(A)wr -ir v'llro cRcq cfTTrfT
(B) Q9T -ir v'llro cRcq cfTTrfT
(O) fll-ll'1di u fc!a{)a � cprcq q@f 

(D')��'ITTTTT 

92 Which of the following laws do not form a 
Maxwell's equation ? 
(A) Planck's law (B) Gauss's law
(C) .Faraday's law (D) Ampere's law
� u clfR m � �êfficlift tf'-1lcfí<01 cOT m
mt? 
(A)� êi?T �
CG)� êi?T �

(B) � "cfíT �
(D) l{fb:i� < "cfíT �

93 Gilbert is a unit of -
(A) Magnetomotive force
((3) Conductance 
(C) Electromotive force
(D) Permittivity 
���t-
(A) �¡�¿")1-M¿c¡ � c#t (B) �liflcfíctT c#t 
(C) �&)êf?c1l'111R:c1 � c#t (D) e¡ ua9,aiêfl �

94 In a lossy dielectric material, the ratio of 
conduction currcnt density to placement 
currcnt density is givcn as -
� t;l�crf q (la�a YlÍ{lliff � � mtr U'f(Cf
"6'"{�mtí�cnT�cRflm-a-r%°? 

O"E 

(A)-
co 

(B) �cre 
O' 

(C) -
COE

(D) �

01() 

https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp


tput frequenC) of an altcrnator 95 Thc ou 

depends on - .
) r, pe of "md111g

. . i�
) 

Íumber or poks and rotat1onal spccd
C) iumber of poles only

tD) Rotational speed only

�¡q&l) ê6T f;rftl � � � %
�tw.oTT� (A) q1�1;:,·, 

B)� ê6T U&TT � � 1Tfu lTT 
( 

-A . (C)� � q)I � � 00 
(D)��� �

r-

96 A transfonner can ha.ve regulation closer to
zero on--- '-' 1 

(A) full load \.O 
(B) over load r

r

,

(C) leading power factor 
� (D) zero power factor 

�� ::, ?;itllbl4( c6T � �¡;q- � '1Zí'l&lêf> --=-­
m % 
(A)1I.°T � -q""{ 

(B) l31IB � -q""{ 

(C)� �ffl ::rrrtco �
(D) �� �ffl � �

l ...,,

97 The distributed winding in alternator -
(A) Reduces ha.rmonics from arma.tu.re emf 
(B) Increases harmonics in arma.tu.re emf
(C) No impact on armature condllctor
(D) Provides voltage balance
�q�¿z °9' fti({l�¿� c:ll��•í
(A)� emf ir t,11-ñPtcR-1 � êf>@ t" 1
(B) � emf "9' t.11-ñf;lcR-1 � i 1
(C) � q)�êf<:{ � � lJ� -;,ff .� t- 1

(DJ��"SRR�t°I

98 If the fault currcnt is 2000 A, the relay sett�ng

SO% and Cl ra.tio 400/5, then Plug Settmg
Multiplier (PSM) will be -
0T1TT V ' fw mvr 50% t" � q¡iz 2000A t, 

m� �q){z�q¡i,h (CT) � 400/5 t 

�� (PSM) wrr(A)lS (B) 10
(C) 25 (O) 50

�+ 

99 A lcrritc core has lcss cddy currcnt loss than 
an iron corc bccausc fcrritcs have - .. (A) 1 Iigh rcsislance (B) Low permeabt!tty
(C) Low resistance (D) I ligh hystcresis
� êITT"{ -q' � rt'T êITT"{ rt'T � -q' � � 
� mu "ITTcTT i � en {1��B -q= mm i 
(A)� �'tl (B) cflli q¡(liR-ldl 
(C) Cf>l1 �'tl (D) � Ril�ftR-rn 

100 The relative permeability of paramagnetic 
material is -
(A) Unity 

. (B) Slightly less than umty
(C) Slightly more than uruty
(D) Very high 
�(l�14f¿q-¡ � rt'y �aJ q¡(11Rk11 � t° -
(A)� (B) � # � q¡q
(C) � ir � � (D) � �

101 Brass is combination of -
(A) Cu+ Zinc 
(B) Carbon + Cl\

(C) Ca.rbon + Zinc
(D) Alurninium + Zinc
"IDB � i
(A) W + furc6 ir
(B)cor$r + w ir
( C) cor$r + furc6 ir
(D) ��f4:t Pi qi¡ + furc6 B

102 Schering bridge can be used to measure -
(A) Capacitance and its power factor
(B) 'Q' of a coil
(C) Inductance and its 'Q' value
(D) Very small resistance
�m � B l-WTT "ijj""[ "8êofil % -
(A)wn"{���Tfc@TITêo
(B) çITT t � c6T 'Q' 
(C)���'Q'�
(D) � fflZT >Tfu-n'tl

103 A pointer of an instrument once deflectedreturns to zero position, when the current isremoved due to -
(A) Action of gravity 
(B) Mass of the pointer
(C) Controlling torque
(D) Damping torque
� � qjT � � � fcr� �©lêf>(
������t.�mu�conur
�t? 
(A) �íêf>�ºI � ir (B) ti2haêfí t llR -à(C) � ci4\Yllq_ol ir (D) \jjql-J�"f �H'1il{al °à
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104 l"hc dill'crcncc hct,, ccn indicatcd , alue and 
truc , alue or quantit) i� kno\\ n as _ 

( \) Gross crror (B) 1\bsolutc error
tC) D�namic crror (D) Rclati,e error 
M 1TT?1T $ � l=fR 3fl1 ql{-çifeli:h l:fR � � 

co1rn��i--
(A)� � (B) � �
(C) ,m � (D) BN� �

105 The figure show below an AC bridge which 
is balanced at 100 Hz. The quality factor of 
the coil will be -
��7n:1;fmr-q�--�- ��TT<TTt�fco 
100 Hz -q BgRrlct mcrr t, -a) � q;,- �ºlqtll 
"i:hTTqj"�I 

(A) 149
(C) 169

(B) 159
(D) 189

106 Which one of the following is a 
transducer ? 

passlve 

(A) Photovoltaic cell (B) LVDT 
(C) ·1 hennocouple (D) Piezoelectric
f..P-•1fo1f@ct -q' "ij � m � f;ift 
(A , "' , �q {íti�W t ? 

_) 1.fij¿Jqlf�¿c¡; � (B) �.cfr.�.tr 
(C) t14lêfíq{i'f (D) c?1\lll�Ji�

l07'J he diffcrc11c, b 1 e ctwccn t 1c mea. 
and thc tru" vai . 11 d 

surect valuc
.... uc 1s ca e -

(A) Ahsolutc crr()r (B) Gross ... (C r 
. 

· · c11or 
) {clat1 ve crror ( J)) Probabl . 

cíffi,+-1... . c crror 
. rnqcfi 1TR ri;-¿¡ tfílílçf ll'R el, tlW thl lj. 
-r. 'Rf"t tfí�-�illctl 

(A) f.n"itZ-i 1�

<e) 'ffitl�, � 

e§)+ 

( B) Hcf>('f -=afi
( D) mftrcñ ( fhnftrcf) WZ

l4 

108 A 6 polc, 50 J fz, 1-phase Jnduction Motor

runs at a spced of 900 rpm. The frequency

oí cun-cnts in cage rotor will be -

� 6 t!Wf, 50 Hz, 1-� ��R lTTZ{ 900 rpm

co°r.rfuu�i 1'fcim"�•-qmuct)"•

��? 
(A) 5 Hz, 50 Hz
(C) 5 Hz, 95 Hz 

(B) 5 Hz, 55 Hz

(D) 55 Hz, 95 Hz

109 A single phase motor draws a current of 5A

from a 120 V, 60 Hz line. The power factor 
of the motor is 65%. Calculate the active
power absorbed by the motor -
� � "i:hffl � 120 V, 60 Hz � ff 5A

°ffifr% l�êoT �Wfd� 65% t llTTc:rãTU 
'3'.fq�fi � �Wfd cfiT 7JURT co"{ -
(A) 600 W (B) 390 W 

(C) 456 W (D) 650 w

110 In thr�e-phase induction motor the 
mechamcal power developed in te f . 
gap (P ag) is -

rms o a1r 

�-� ��R � -q, � � (P � 
�,f -q fc:lêfíf"Bct � �Tfc@ � % ? ag

) 

(A) (1-s)Pag (B) (s-1);
p 

(C) ag

s

p

(D)-3.IL 
l-s

ag 

111 A damper winding is used in a 
motor for -

synchronous

(A) Power factor improvem 
(B) El. . . ent 

nrnnatmg huntino of . 
(e) E(li . . e, 

IOtor 
1c1ency 1mproveme t 

(D) Minimising tempcratu
1
1 •· 

� -� , rt'T-T-4---re 11se 

;��� 
i¡ c.01 í34<:ni1 fuçh'Hu � -q � lrITTfT 

(A)tflcIT � -q �tITT" m 1 

(B)��@:ll��m
(C) �� -q '§;m-{ m 1 

1 

(O) dl4Gl1 � -q cotT) m I

112 /\ 1 tcrnators are rnted at _ 
(/\) k W (B) k. VA 
(C) k Wh (D) kW 
'3TI�¿<�¿tf c#l tfvr � 'ê6t 

or kVA
� t ? 

(/\) kW (B) kVA . 
(C) k Wh (D) kW 'Q'r kVA
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113 Which of the following is a vector quantity? 
(A) Rclati,e penneability
(B) 1agnetic field intcnsity
(C) Flu.· dcnsit�
(O) t-. lagnetic potcntial
PiY�fuia � U � � � ��T 1lftT i- ?
(A)-mq� 41(11i:qa1 (B) 'g�c61q �ct)-�
(C) � � (D) 9,cilêfi'lq &ll@T

114 The magnetostatics highly relies on which 
property ? 
(A) Resistance (B) Capacitance
( C) Inductance (D) Moment
� 9;€1fchc61 wra � � � l:I\ �
� t ? 
(A)�� (B)�mft;r
(C)� (D)�

115 The force experienced by an �lectrotnagne1ic 
wave in a conductor is -
(A) Electrostatic force

, (B) Magnetostatic force
l (C) Electromotive force

(D) Lorentz force
� q@q)" � � 1�êfi'lq � wu � m �
�mcrrt?
(A)��� 
(C) �->l"'G"fcA" � 

(B) 1�í:61q � �
(D)�� 

116 The correct sequence of increasing order of
electrical resistivity of .the given material
IS-

(A) Gold, Silicon, Doped germanium,
Diamond

(B) Gold, Doped germanium, Silicon,
Diamond

(C) Gold, Diamond, Doped germanium,
Silicon

(D) Diamond, Silicon, Gold, Doped
gcm1anium

-ctt � (-ll'i rt)q) êfil � >lfàu'c.lêOãT � � � cfiT 
Btl ç6J, },

(A)�. fuf�êfir-1, m -iiqP!q11, � 
(B) Tffi's, � \Í'jqf;¡qq, fufi.lêfi'í-1, �
(C) Tffi<s, �. � -iiqf-ill'i, fu�i.lTT-1
(D) �. fufi.lêfiA, �. m '11qf.1qq

15 

117 What are the materiais which exhibit electric 
polarization even in the absence of an 
applied electrical field ? 
(A) Ferromagnetic (B) Paramagnetic
(C) Ferroelectric (D) Anti-ferroelectric
��wgmqw)�u��õlàl'1fl 
fcf> �,ôfqa � �� ��có"flf � i? 
(A) ?fiôy•�Ílêh (B) �(¡y1�f¿q¡
(C) �(1i�&)r4-¿)q¡ (D) "cti'r-�l"'1��q=¿)q¡

118 A good electric contact material should have 
all of the following properties except 
(A) High resistivity
(B) High resistanée to corrosion
(C) Good thermal condúctivity
(D) High melting point
���ffiW��i!'u�zjt 
&)i¡�êf¡ ( "Btjr � � i
( A) � >l"fuirêlcITTTT
(B) '1'flT � � � muq
(C) � � í:ll{rlêhdl
(D) � 'IW1iêh �

119 Which m aterial can be used upto a
temperature of 13 OºC ? 

·(A) Mica (B) Cotton
(C) Synthetic Resin {D) All of these 
l30ºG � çt¡q�,1 "ffêf¡". � � � cOT í34lil'I.
� \ÍfT BclmT i ? 
(A)� (B) cotlffi
(C) fu� � (D) � �

12º Amorphous materiais are 
(A) in which atom align themselves in

t �eometric pattem. 
"�B) in which there is no d�finite atomic 

structure and atoms exist in a random 

C 
Pat�ern just as in Iiquid. 

( ) Wh1ch is not attracted by phosphorous. 
(D) Which emits fumes.
� 1Rf):4� m1 i
(A)� �. v'lllÍll� � 1) � -rrcf � 1
(B) � ch7{ �ml � ti {iFII .,t,' mcft cr

�t6T���m-à-i 
(C) i:fl "Cfm:q,) n-1 -à � � ircf '
(D)i:f) �'3ñ � i 1
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